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 BECE-002  

BACHELOR’S DEGREE PROGRAMME (BDP)  

Term-End Examination 

February, 2021 
 

BECE-002 : INDIAN ECONOMIC DEVELOPMENT : 

     ISSUES AND PERSPECTIVES 

Time : 3 hours Maximum Marks : 100 

Note :  Answer the questions as per instructions given in 

each section.  

 

SECTION A 

Answer any two questions from this section in about 

500 words each.  220=40 

1. Examine in brief the structural changes in the 

Indian economy since 1951, as indicated by 

National Income Data. What are their  

implications ?  

2. Examine the need for ‘environmental protection’ 

in India at the present stage of development. 

Suggest necessary measures.    
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3. Discuss in brief the changes in the pattern of 

industrialization in India since 1991. What role 

has been played by the government in the 

emerging trend ?   

4. Examine in brief the different gender issues 

involved in the process of economic development 

in India.  
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SECTION B 

Answer any four questions from this section in about 

250 words each.  412=48 

5. What is ‘Finance Commission’ ? What are its 

functions ?    

6. Examine the role of regional trading 

arrangements in the development process for an 

emerging economy like India.  

7. What do you mean by ‘farmers’ distress’ ? 

Suggest measures to overcome it.  

8. Examine the various issues relating to water 

resources in India.     

9. What do you mean by ‘labour reforms’ ? How 

could these be useful in creating new job 

opportunities in India ?   

10. Account for the global economic crisis, 2008. Also 

suggest measures to avert it in future.   

11. Examine the changes in the composition and 

direction of India’s foreign trade since 1991.   
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SECTION C 

Answer both the questions in this section in about 

100 words each.   26=12 

12. Distinguish between any two of the  

following :  

(a) Direct investment and Portfolio investment  

(b) Export promotion and Import substitution   

(c) Agricultural output and Agricultural yield 

13. Write short notes on any two of the  

following :  

(a) Foreign Exchange Management Act  

(b) Corruption in India  

(c) Health Care Delivery System in India 
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 ~r.B©.gr.B©.-002  

ñZmVH$ Cnm{Y H$m`©H«$_ (~r.S>r.nr.) 

gÌm§V narjm 

\$adar,  2021 

 

~r.B©.gr.B©.-002 : ^maVr` Am{W©H$ {dH$mg : 

 _wÔo Ed§ n[aÑí`  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àË`oH$ ^mJ go {ZX}emZwgma àíZm| Ho$ CÎma {b{IE & 

^mJ> H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) 
_| {b{IE &   220=40 

1. ^maVr` AW©ì`dñWm _| 1951 go amï>́r` Am` Ho$ Am±H$‹S>m| Ho$ 

AZwgma AmE g§aMZmJV n[adV©Zm| H$s g§{jßV g_rjm 

H$s{OE & BZHo$ Š`m {Z{hVmW© h¢ ?  

2. dV©_mZ {dH$mg gmonmZ na ^maV _| ‘n`m©daUr` g§ajU’ H$s 

Amdí`H$Vm H$s g_rjm H$s{OE & Amdí`H$ Cnm` ^r 

gwPmBE &  
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3. df© 1991 Ho$ ~mX go ^maV Ho$ Am¡ÚmoJrH$aU Ho$ ñdê$n _| 

AmE n[adV©Zm| H$s g§jon _| MMm© H$s{OE & Bg CXrß`_mZ 

àd¥{Îm _| gaH$ma Zo Š`m ^y{_H$m {Z^mB© h¡ ?  

4. ^maV _| Am{W©H$ {dH$mg à{H«$`m go Ow‹S>o {d{^Þ qbJ ^oX 

AmYm[aV _wÔm| H$s g§jon _| g_rjm H$s{OE &  
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^mJ> I 

Bg ^mJ> go {H$Ýht Mma àíZm| Ho$ CÎma bJ^J 250 eãXm| (àË`oH$) 
_| {b{IE &    412=48 

5. ‘{dÎm Am`moJ’ Š`m h¡ ? `h Š`m H$m`© H$aVm h¡ ?   

6. ^maV O¡gr C^aVr AW©ì`dñWm Ho$ {bE {dH$mg à{H«$`m _| 

joÌr` ì`mnma ì`dñWmAm| H$s ^y{_H$m H$s g_rjm H$s{OE &  

7. ‘{H$gmZm| H$s {dn{Îm’ go AmnH$m Š`m A{^àm` h¡ ? BgHo$ 

{ZamH$aU Ho$ Cnm` gwPmBE &  

8. ^maV _| Ob g§gmYZm| go Ow‹S>o {d{^Þ _wÔm| H$s g_rjm 

H$s{OE &  

9. ‘l_ gwYmam|’ go AmnH$m Š`m VmËn`© h¡ ? ò ^maV _| amoµOJma 

Ho$ ZE Adga g¥{OV H$aZo _| {H$g àH$ma ghm`H$ hmo gH$Vo 

h¢ ?  

10. df© 2008 Ho$ d¡pídH$ Am{W©H$ g§H$Q> Ho$ H$maU ~VmBE & 

^{dî` _| BgH$s nwZamd¥{Îm go ~MZo Ho$ Cnm` ^r gwPmBE & 

11. df© 1991 go ^maV Ho$ {dXoer ì`mnma H$s aMZm Am¡a {Xem 

_| AmE n[adV©Zm| H$s g_rjm H$s{OE &   
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^mJ> J 

Bg ^mJ> Ho$ XmoZm| àíZm| Ho$ CÎma bJ^J 100 eãXm| (àË`oH$) _| 
{b{IE &   26=12 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ~rM AÝVa ñnï>  

H$s{OE :  

(H$) àË`j {Zdoe Am¡a nÌH$ (nmoQ>©\$mo{b`mo) {Zdoe 

(I) {Z`m©V àmoËgmhZ VWm Am`mV à{VñWmnZ 

(J) H¥${f CËnmXZ Am¡a H¥${f CËn{Îm 

13. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{já {Q>ßn{U`m± 

{b{IE :  

(H$) {dXoer {d{Z_` à~§YZ A{Y{Z`_  

(I) ^maV _| «̂ï>mMma 

(J) ^maV _| ñdmñÏ` n[aM`m© àXm` ì`dñWm  

 

 


